
DFSCGK
GUN MOUNTING KIT
for Flat Surface Cleaners

8

DFSCGK
Assembly
Instuctions

General Pump is a
member of the 
Interpump Group

FROM GENERAL PUMP

• Mount a spray gun to your Flat Surface Cleaner. 

• Kit mounts on the handle of your Flat Surface Cleaner.

• Requires no additional valve operation, making it easy to use.
Simply pull the trigger of your spray gun or Flat Surface.
Cleaner to operate.

• Easy to install.

Ref 300950 Rev.A
08-14

Ref 300950 Rev. A
08-14

ITEM
NO.

PART
NO. DESCRIPTION QTY.

1 2500020 MANIFOLD 1
2 2550172 BRACKET, GUN 1
3 2550173 BRACKET, LANCE 1
4 2452019 FITTING, 90 DEGREE 1
5 2200007 SCREW, SET, M8 1
6 D10066 SWIVEL 1
7 2103257 ASSEMBLY, HOSE (Not Shown) 1
8 2500021 BRACE 1
9 2550174 CLAMP, GUN/LANCE 2
10 2200095 BOLT, M6X20, SST 4
11 2200026 NUT, NYLOK, M6 4
12 2203401 WASHER, M6 4

General Pump
1174 Northland Drive  •  Mendota Heights, MN 55120

Phone: 651.686.2199  •  Fax: 800.535.1745
www.generalpump.com  •  sales@gpcompanies.com

4

1

10

2

8

11

12

9

5

6

3



Ref 300950 Rev. A
08-14

Ref 300950 Rev. A
08-14

ASSEMBLY INSTRUCTIONS

1. Attach gun bracket to upper FSC handle in approximate location shown in 
FIGURE 1. Use clamp; (2) bolts, washers and nuts to secure.

2. Attach lance bracket to lower FSC handle in approximate location shown 
in FIGURE 2. Use clamp; (2) bolts, washers and nuts to secure. Gun and 
lance brackets need to line up on the handle.

3. Remove  handle plug from end of the handle on gun side and replace it 
with the brace.

4. Loosen gun on the FSC handle and slide it toward the end of the handle.

5. Apply thread sealant to the fittings for the bottom of manifold. The fittings 
used depend on the hose outlet from your pump and the inlet of your gun.

6. Apply thread sealant to elbow and attach it to the top of manifold. Elbow 
must be parallel to long side of manifold and directed toward the slot. See 
FIGURE 3.

7. Apply thread sealant to the other end of the elbow and thread the manifold
assembly into the FSC gun inlet. Manifold must tighten so the slot in the 
manifold slips into the brace when the gun is slid forward on the handle.

8. Slide the gun forward on the handle so the tab on the brace slides into the 
slot in the manifold. Tighten the gun on the handle and the set screw 
securing the brace into the slot. See FIGURE 4.

The hose from the pump connects to the fitting out the back of the 
manifold and the 4-foot hose supplied connects to the fitting on the 
manifold pointing toward the front of the FSC.

The swivel supplied with the kit connects to the inlet of your gun.

The gun and lance you use connect to the other end of the 4-foot hose.
The end of the lance rests in the bracket at the bottom of the FSC handle.
The gun rests in the bracket at the top of the handle and the gun also
rests on the handle. See FIGURE 5.

FIGURE 1

FIGURE 3 FIGURE 4

FIGURE 2

FIGURE 5 Kit shown attached
to FSC

(FSC, Spray gun and lance
not included)


